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def knn(trainingSet, testInstance, k):
distances = {}
sort = {}

length = testInstance.shape[l]

for x in range(len(trainingSet)):
dist = EuclideanDistance(testInstance, trainingSet.iloc[x], length)
distances[x] = dist([0]
sortdist = sorted(distances.items(), key=operator.itemgetter(l))
neighbors = []
for x in range(k):
neighbors.append(sortdist([x][0])
Votes = {} #to get most frequent class of rows
for x in range(len(neighbors)):
response = trainingSet.iloc[neighbors[x]][-1]
if response in Votes:
Votes|[response] += 1
else:
Votes|[response] = 1
sortvotes = sorted(Votes.items(), key=operator.itemgetter(l), reverse=True)
return(sortvotes[(0][0], neighbors)
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